3 e
s 7

1. =¥ e W afi-fsde @

@ R + 3| ) f + T
(c) T + T @) fF +
2. Il W T T Qo o T 2
oSBT (b) e
(c) wait (d) <
T HE 3 7 % i :

FufRen Taw ® ww @ fe en v e
37 % S 3@ T ¥ SMUw w AR

T S e T ¥ 3w ges e @ T
TR E | 3T Al e s ek s & e ot
T8 T T R A T R e g I 0
&, 5% T 7% fvaw w0 s o X 30 o 1
FRE | & IE A A i ww E
SH T R IS Aawahal T8 Bt | 7w Rt o T
I TE T T T 7 T v e e & e
e e a1 foream v wee s ) & 9 e e ad
T T T @ | B9 He SEi0 e & o § Hifs
AN IS T fewman gun faw @1 ww s s
TR | 3 T A e i A Rl e F 5
AT H $8 3N A T R |

3. & St o Af 3 el w R @ 7
(a) |t H
(b)tmnﬁ
(c) T3t @& favama +t
~d) TrEs 3R femmE

4. ‘Ge ¥ T wTa d ght' sew ol e @ frw A
¥ a1 T @ 7
(a) T Y FeT Fl e I T

(b) T Sft wrEveny o T R i ' T
forn g & wera &

e e 3 s 4 5 e
- (@) ¥ 58 TR hY 91 51 30w ¥ Ry
T T T B ATl T Bt

PCUX-2 - 22
5. ¥ WM g 6 A e R, w9 9w wf e
Fit yoe FW § HifH

@ ATEvE 3R femmen g <o w1 A 3
= R

(b) & femman F TEd €
(c) I Y T ¥ FEeT a1Ed &
(d) ggl = TE = &

6. T T IugF IF B
(a) Frea1 @@ foram
\&) TrEE Igfie Sfad & g
(c) Tegmn
(d) G St

7. oo B He o g R sEm Fw E ¢
(a) OTaT A

(b)) G
(c) 78 a1 @

(d) STEvIHAEER

8. Fieferfaa & - oot reres 78R <
@% (b) =

©® s

9. Freafeten 3 & w wg 1 b 3 -
G}, % v }

g
(b) ey
(c) g
SOR




e

10. it R 1 for T i A gan @ 7
N TTeh (b) ur=h
(c) WREH OECEN

11, e g v 2

(a) Feugferss ) TemRisg
(c) Tty (d) T
1) ToEm-aQE T BT g s 2 7
‘\,(})%3-% () B7 - B
(€) & - i (d) =% - ST

13. frefefes # o weg &
(a) $r3 (b) 3ImMm
(O (d) =

14, ‘e I I @ved frn & 1’ 58 ariy
& o o e @

(a) Fg==R
) TIR

(c) SegT

(d) fagfar

15. IR 1 qguE weg B
(a) St (b) 3=

(c) 31T JOEL

@%ﬁé‘m’wwwﬁaﬁw%
/@ 3t

(b) T

- (c) I

PCUX-2 -22

ikl

18, Pt @it 3 & T 8 T R

(a) mﬁwma@ﬁﬂ? I

(b) g Grad T H TG ¢ |

oy 1 T i Tt €T |

(d) S ST T T 9T &, IF S T § |

19. T ¥ yeet qur 3a% 1 B GAA hitdg qul
gl e 1 == il |

Heraw o1
%) B ST 3) TEAAT H G 7
WA
Q) Ol W HY e ®) =g A g@
e B |
) Bt SHg W) §= % FR0 =AiE
' B |
) BTl HeAT | .

7) NP & |

Fe:
Vin i
w5, @, g, uew
(b) ®-5, @-H, -5, 9-¥
(€) F-9, @-3, T-3H, u-§
(d) ‘q;_a’ @-’Hg TI—N, -9

20, Frafefed & & sl wee i 2
(py T
(ORERUEEE
(c) W==EE

@

(d) FearREs




bk
21. Point out the synonym of DILAPIDATED,
(a) lowered down
(b) broken
(c) weak
(d) ruined

22. Fillin the blank in the following sentence with
appropriate conjunction :
She must weep,
(a) but
(b) and

(c) or

¢ because

she will die.

Instruction for the Question Nos. 23 to 27.

Read the following passage carefully and answer the

following questions that follow :

Since modern industrial society is highly organized,
if there is a strike in a vital industry, the whole
community suffers. I am not arguing that, the right to
strike should be abolished. I am only arguing that, if
it is to be preserved, it must be for reasons concerned
with this particular matter, and notan general grounds
of personal liberty. In a highly organized country there
are many activities which are important to everybody

and without which there would be widespread

hardship.

A
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23. A strike is generally regarded as
(a) an undemocratic act
(b) an expression of individual freedom
(c) a gross violation of rules

(d) an act of indiscipline

24. According to the author which one of the

following best express the industrial society ?
(a) Industrial society is blind to the needs of

its members

(b) In an industrial society members are

dependent on each other

(©) In an industrial society power is

concentrated in the hands of few

(d) In an industrial society the individual

members is not important

25. Inthelight of the passage, if there is a strike in

a soap factory, it may be viewed as
(a) not a serious matter
(b) a matter of deep concern

/,(c) a thing not likely to happen

(d) a serious matter




26. The author is of the opinion that

(a) strikes should be suppressed by all

means
(b) strikes should always be encouraged

@ strikes may be there in the interest of the

general good

(d) all strikes are bad

27.  The phrase ‘this particular matter’ refers to
(a) the unity of strikers
(b) the interests of the factory owners

\/(c) the fact that industrial society is highly

organized

(d) the suffering of the strikes

28. Which of the following is wrongly spelt ?
(a) accessory
(b) accede
(c) accelerate

(d) absces

29. Fill in the blanks with appropriate prepositions :

me service.

He is junior

(a) to, by
- (b) than, in
\,(A to; in

(d) then, in

55

30.

31.

32.
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Which of the following is the meaning of the

idiom ‘salt of the earth’ ?
(a) adry person

(b) a selfish person

(c) a very good and honest person

\(dl{ a useless person

What is appropriate meaning of the idiom
‘Do not always pick holes’ ? Find out the

correct answer from following options.
(a) Dig holes

(b) Criticize

(c) Pick up a quarrel

(d) Keep quiet

Someone “strange or unusual in an amusing

way”, is known as
(a) Zombie

(b) Zap

(c) Zit

(d) Zany
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33.

34.

35.

36.

: ; hoices are
In decision making quality of cl

influenced by
(a) Perception
(b) Mental set
(c) Intelligence

(d) Abstraction

If the compound interest on a sum for 2 years
at 12 %% per annum is ¥ 340, then the simple
interest on the same sum at the same rate for
the same period of time is

(a) 335 (b) T310

(c) X330 d) T 320

Find the missing number.

(a) 21
(c) 20

(b) 18
(d 19

If 12345671586 stands for TERMINATION,
which number does 671586 stand for ?

(a) MOTION
(b) NOTION
(c) NATION
(d) RATION
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one of the following context refers tq

ich
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called @ e
(a) Confidence e ~

(b) Self-confidence

(c) Over confidence © &ﬁfﬁm ]
(d) None of these (d) 3 & F13 T
39. Ifundersome rule 5341 is transformed to 4086 | 39. afe fenet Frm 3t 5341, 4086 § giafda
and 4772 s transformed to 5265, then 7614 will a1 4772, 5265 @ wiafda fpaT T 2, a 7614
be transformed to qiafda g
(2) 8645 (a) 8645 GRS
(b) 4238 | (b) 4238 n\G g
(C) 7038 (C) 7038
d) 6174 Ux
) d) 6174 ?03\ v
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40: You are a Police Officer, your duty is assigned [ 40. 379 T# gferm e 2, 3 T A W
at.the State fair, Which of the following e & | o Frefafea 4 @ vea form witeufa

situation do you handle first ? Y E9RM ?

(@) A man obviously drunk has passed out (a) T H A Y AT W IR e
and lying by the ticket booth feet ¥ T v o

(b) There is crowd forming around two A 2 v - @ N
unarmed teenagers ongoing with arguments - Wi o T Al

(¢) The ferris wheel i in midair wi v

is stuck in midair with o) T&i
People sill on it ()mﬁgm“@"%amww%
d

@) A dumpster next to the main tent &/ e g RRE e B

Pavallion is on fire 3 <oh 2 Th F T
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41. Which statement is NOT correct ?
(@) Every rhombus is a square.
(b) Every rectangle is a parallelogram.
(©) Every square is a rhombus.
(d) Every rhombus is a parallelogram.

42. Which approach of decision making involves

solving a problem using traditional means ?
(@) Creative approach

(b) Routine approach

(c) Scientific approach

(d) Quantitative approach

43. Ifx=

1
B , then value of4x3—2x2— 8x+5is
. (@) 2 (b) -2
.(©0 d -1

Arrange the following words in meaningful
logical order.

1. Never
2. Sometimes
3. Generally
4. Seldom
5. Always L%
(a) 5,3.2.4. 1
(b) 521,34
(© 5,2,4,3,1
(d) 5,3,4,2,1
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47.

4.

%‘?P . neterof @ triangular field is 540 meter, The
eri

|
L

: o ofits &S is 5 : 12 : 13. The area of thjg
ra

field is

(a) 9720 59 meter
(b) 9560 5q. meter
() 9320 sq. meter:
(d) 9450 sq. meter
What is correct order of writing a press
release ?

1. What happened ?

2. Who did it ?

3. Headline

4, When did it happen ?
Using the code given below, choose the
correct alternative.
(2) 3142
(€)2314

(b) 1324
d 3412

The LCM. of x2 - y?, x> — y° and
X3-X2y—xy2+y3 is '
@ (x+y) (x—y)% (2 + y —Xy)
®) x+y)? (x - y)2

© (x+y) (x - 2 %+ y2 +XYy)

@ x+y) (x-y) (P + y? + xy)

Find rot

"d median for the following data :
Clags
Interyy) | 0~20 [20-30|30-40[40-50
F

l’eqllency 42 25 58 40
3456 (b) 38.5
® 5261 d) 36.6
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(d) 9450 = HX

g famfer e FEG FAFTR 7

1. FTEI?

2. g fopa foma 2

2 T

4. € a B3 ?

1 feu o Gt w1 ST o G fwey
T = HNT |
P 3142

(2314

46.

(b) 1324
d 3412
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AR | 0-20 | 20-30 | 30— 40 40-50
aEf | 4 25 58 40
(a) 34.56 (b) 38.5 S
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49. Inasecret code message ‘HOTEL' is COdCfi as
300. What will be the code for ‘HOSTEL’ ?

(a) 360 (b) 558
(c) 374 (d) 474
50. IfI=18, M =26 and COME = 72, then value
of GO is
(a) 44 (b) 38
(c) 72 (d) 40
51. Find the missing letter from the following.
B G N
D|J|R
G| N 2
@V
(b U
) W
d X
52. Which of the following is NOT a barrier of

effective communication ?
(a) Culture

(b) Noise

(c) Colour

(d) Language

53. What is the main characteristics of Delphi
Technique for group decision making ?

(a) Verbal communication
(b) Face-to-Face communication

* (c) Written communication

(d) Alternative communication
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(a) 360 (b) 558
(c) 374 (d) 474
U] 1852y
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d) X
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54. Pand Qarein the ratio 5 : 6 and difference of
their squares is 99. The value of P is
(a) 22
(b) 18
(c) 15
) 45

55. Complete the sequence with the correct option
from the following alternatives.

HOTEL:12::FILM:?
(a) 18 (b) 10
(©) 16 d) 14

56. Individuals receiving the message ask

themselves the basic question.
I:Is the person giving the message trustworthy
and sincere ?
II : Does the source know anything about the
subject ?

Using the codes given below choose the correct
alternative.

(@) Neither I nor II is relevant

(b) Only Iis relevant

(¢) BothIand IT are relevant

(d) Only I is relevant

57. The number of parallelograms in the adjoining

figure is

(a) 16

b) 13
(c) 15 ©

(d) 14

-11-

*

=\ :
&‘& ¥ PCUX-2'_.22
54. paen Q,5: 6% IR F ¥ oy
?99,3,#:1)%“% AL o
2 RS
(b) 18 A ©
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(2) 18 ~b) 10
(c) 16 d 14
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(a) 78 I 3R & 11 wifires 2
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57. Wmﬁmﬁgﬁﬁm%

(a) 16
(c) 15




% habet are arranged

58. 25 letters of English alp

59.

60.

below :

vV ¢ F UM

P O X S H

J Z A 1 E

B L D K Q

N w G T Y

If all the letters were to be arranged
alphabetically, which letter would NOT change

its position ?
(@Y
®) U
©X
@w

Which option is/are to be followed ?

Statement : Money is a huge motivator.

Conclusion : 1. People get motivated only
when they expect to get some
money for doing or behaving
in a certain way.

2. There are some factors
other than money which also
motivates people.

Codes :

(a) Neither 1 nor 2 follows
(b) Only 1 follows

(c) Both 1 and 2 follow
(d) Only2 follows

A tendency to fixate on initial information is
called

(a) Availability bias

(b) Overconfidence bias

(c) Confirmation bias

(d) Anchoring bias
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5o v T it Iufig T E |
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e
() A 1 7 & 2 3gala g1 ?
) ¥ 1 FTERA e @
(c) Mt 1 & 2 TgERA Bd &
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61

62.

63.

1-.
~ Numbers of triangles in the following figure ig

@26 . (b) 18
() 24 ) 22

In a letter series
a__bb_a__bbaacc__a,

the missing letters in the proper order are
(a) bcabcbb

(b) cbaccbb

(c) ccaccbb

(d) bbaccbb

If 131x + 217y =827 and 217x + 131y =913,
then what are values of x and y respectively ?
(@) 3and 2
() Sand 7
(c) 2and 5
(d) None of the above

. Statement : Some rats are cats.

Some cats are dogs.

No dog is cow.

Conclusion : 1. No cow is cat.

II. No dog is rat.

III. Some cats are rats.

Choose correct option :
(@) L 11, 11l follow
() only I and I follow
(@) only T follows’ *
) only 11 and 117 fo1ow
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62. avji»}vﬁﬁ
aggbb‘f'gfgbbaacc__a,
o w0 8 g 9 @
(a) bcabcbb
e —_(b-Q-—

(b) cbaccbb

ey Ccaccbb & %cl_( qC_

(d) bbaccbb

c
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63. AR 131x +217y =827 217x + 131y =913,
qr xQﬁ y & A HE: TﬂTé ?

() 3T 2
(b) 5w 7
(c)2wW@S5
(d) 3ud # | ¢ T

64. woH : o R fafewai € L
3o ffeeral $a | |
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‘YL @

>

& ©
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(b) et [ e 11 &gt &

(c) et [11 5t &
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65. The sum of deviations of a set of observations
Xp» Xps ey X measured from 50 is -10,and

lhe sum of devmtlons from 46 is 70, then the

number of observations is
(@) 40 '
(®) 10

(c) 30 .

(d) 20

66. The process of listening consists of
(a) 7 stages
- (b) 4 stages
© 6stages |

(d) 5.stages s Honeen i

67. The graphical techniques that can be used to

represent nominal data are
- (a) histogram and égive
~ (b) bar chart and pie cha;t
(c) histogram and bar chart

(d) bar charp and ogive i

68. If 13" August, 2017is Thursday, then what day
* of the week would be a7t August, 2023 ?

(a) Sunday
(b) Thursday - e

(c) Saturday

(d) Friday
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65. eI F TG X5 Xpp eonr xnwsoﬁmw
frareri w1 41T — 10 2 3R 46 A TG T Ry
1 v 70 2, @ et 1 T 2
(a) 40 09% .
(b) 10 mx% '
(c) 30
(d) 20

66. g 1 wiwar § ffga g €

(a) 7=
(b) 4 =0

‘ (c) 6=

(d) 5=

67. 3 ferfiw qerdioh St wihhies ST F FReTor

% forT g <t <1 @t ®
) IR f S e
(b) <vs fam 3w o
(c) 3mra o 3k gue fm
(d) vs foa 3k aRw

68. afe 13 3, 20173%%%, @ 27 3R,

2023 Y FWIE H1 HH-F1 &7 2 7

(a) RIECIEN
rp\'}%)

© mﬁar( @ Qq, ‘Lo?,B
" (d) PR
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9. Four pairs of numbers are given of whic, three

are alike and one is different. Find e one
which is different.

(a) 11,363
() 5,75
(c) 9,243
(d) 7,108

70. Which of the following is NOT a stage of

creative process in decision making ?
(a) Identification of proposition

(b) Verification

(c) Illumination

(d) Preparation

71. Choose the odd one from the given options.

(a) AZ27
() CE7

(c) LP28
@ G117

72. Decision making occurs as a recreation to

1,

ALz) Communication

(b) Solution
(¢) Problem
(d) Mood

What Percentage of message is perceived
non-verbally 9

(a) 409,
(b) 309
(c) 509,
(d) 559,
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69, st 5 = g g R & ol i w &
A e | 7 g T HIAT |
(a) 11,363

Gy 575
(c) 9,243 ./

SO

70. frofa & # PrefaRea # & HH-81 T TS
wfpan &1 SO A 2 7
() TEIE Hl gE=H
(b) T
(c)g?fm
(d) aard

71. fau e fyeredt & & fawm g |

() GI17

72. ol o sl & s d Aar @
@Y o
(b) FHYUE H
(c) ga&m A
(d) wRYem Y

L] mmmmmm%maﬁqm
o e @ 7 :

(a) 40%
(b) 30%
(c) 50%
(d) 55%
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74. If the radius of a sphere is increased bY
s 2
2 cm, its surface area is increased by 352cm”,
What i =
at is the radius of the sphere 7 [ ©= 7~
(@) 4 cm ‘ g

(b) 6cm
(c) 8cm

(d) 7cm

75. Which one of the following valid conclusion
can be derived from the following premises ?

Premises : 1. All scientists are graduates.

2. No supervisors are graduates.

Conclusion :

(a) No graduates are supervisors
(b) No supervisors are scientists
(c) All supervisors are scientists

(d) All graduates are scientists

76. Which of the following is an example of dress
code communication ?
(a) Verbal
(b) Spoken
(c) Written

(d) Non-verbal

77. T he median of the first 10 prime numbers is
(a) 12.9
(b) 11.0
(c) 13.5

(d) 12.0
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\gf siet ST STt
(c)ﬁTRi'vT
(d) s

77, e 10 I GG A e o;ﬂ
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81,
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4

: %(mich of the following is NOT 4 feature of
0

7. .

group decision making ?

(a) One head is better than two

(b) Joint responsibility for the degisiop -

(c) Consensus among all the members

(d) Active interaction between group
members

8 is related to 81 and 27 is related to 256 in the
same way as 64 related to

(a) 625 (b) 225
(c) 525 (d) 425

Which of the following is NOT characteristics
of problem situation ?

(a) Similarity of the problem

(b) Size of the problem |

(c) Organization of problem situation

(d) Complexity of solution

A person buys 4 horses and 9 cows for X 13,400.
If he sells the horses at 10% profit and cows
at 20% profit, then he earns a total profit of
s 1,88(?. What is the cost of acow ?

(2) T400 '

(b) 900

(c) T 600

(d) None of the above

ldentify the missing term from the following
Options for the given series.
AND, COF,FPLJQM,
(c
) ORR (d) PRT
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83.

84.

- 85.

86.

- (d) North s

‘I-IOME' in a code
ed as “TOOT’ in

n be expressed

If ‘GOLD’ is expressed as

word and ‘SONS’ is express
a code word, then ‘CORD’ ca

in code word as
(a) DOSE
(c) TONT

(b) TOPT
() TOOS

ct th
Read the following statements and Séle e

correct answer. »
Statement 1: Communication is jrreversible.

Statement 2 : Communication is constant.

(a) Neither of the statement is true

(b) Only Statement 1 is true

(c) Both the statements 1 and 2 are true

(d) Only Statement 2 is true

- Going 50 m to South of her house Radhika turns
left and goes to another 20 m. Then, turning to
the North, she goes 30 m and then start walking
to her house. In which direction is she walking
now ?

(a) East
(b) North-West
(c) South-West

What type of communication
1s a press release ?

(2) Interpersonal
(b) Public

(¢) Intrapersonal
(d) None of these
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: y o i
ol From4the Io_lloggmg equatlonAs X"+ y? = 4
andX -y = 369 the value of x and y will be

respectively
() £3,14
®) 5% 4
() £4,%3
@ 4, %5

¢8. Which of the following is NOT related with

the characteristics of problem solver ?
(a) Generality of solution steps

(b) Motivational factors

(c) Past experience and practice

(d) Set variables

89. Which communication has an emotional
appeal ? '
(2) Intrapersonal communication
(b) Mass communication
(c) Group communication

(d) Interpersonal communication

90. Find the missing number in the following series.

y’y’?’ lyzl’l%l
@ 73 ®) 10/
® Jo d) %0

91. The fifih letter of the letter Sequen
' ce

Y, W, L5 T i

(@) J

© K (b) 1
A d) L
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% Which one of the following is NOT 2 skill of
interpersonal interaction ?
(a) Administrative power
(b) Positive thinking
(c) Courtesy
(d) Empathy

A circle touches all four sides of a quadrilateral
ABCD whose sides are AB =8 cm, CD =9 cm
and BC =7 cm. The length of side AD (in cm) is
(a) 12

®) 8

(© 11

(d) 10

93.

94. ‘Do you like working 7’ This question is an
example of '

(a) Negative question

(b) Open question

(c) Positive question

(d) Close question

95. Rajanis brother of Sachin and Manak is father

of Rajan. Jagat is brother of Priya and Priya is
daughter of Sachin. Then who is the uncle of
Jagat ? ‘

(a) Sachin
(b) Rajan
(c) Manak
(d) None of these

96. The background signals, distortions and
distraction during communication are known as
(a Loudness (b) Noise

(c) Receiver (d) Feedback
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o7, Find the missing number from the following

alternatives.
21 24 36
n | e | 2 ’
3 ? 4
77 112 108
e
(@) 3 (b) 2
)6 ) 4

98. Which of the following is NOT a

recognised and accepted style of interpersonal

communication ?

(2) Manipulativeness
(b) Aggression

(c) Persuasion

(d) Assertiveness

99. Accordingto ‘rational decision making model’,

last step is

(a) Evaluation of alternative

(b) Selection of the best alternative
(c) Identification of alternative
(d) Selection of alternative
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